Sozl_'lou

= 1

152 58 P

SKF RNAO 8x15x10 TNS#{

FER FW 8 mm =
D 15 mm -
C 10 mm =
FEA € B C 3800 N SRR
) 4250 N T
9% 55 35 i W2 PR Py 465 N -
BURE SRR 32000 r/min =
¥ PR A 3 36000 r/min -
i i 8 g -
= = RNAO 8x15x10 TN - -
SKF RNAO 8x15x10 TNEF
10
r 03 r o3
F1.2min 03 amax amax =
I - u T |n:
C15 ‘ T
Dy 113 dg 107 Dy, 8,
E 11
I.I.I
¥ 111 1] ||| ||
& 053957
4 amn 00118  Famax DO118 Famae 00118
T 1L ju| T
0 05905 ‘ T
Dy 0.4449 dy 04213 Dy, 0.3268
E 0433
Foy 031
“ 1Ll 11 ||| ||



http://www.sozhou.com/p/031eb8a1.html

SZ R http://www. sozhou. com/p/031eb8al. html



